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61.(B) ftl izdkj] <+kapk fp=k dks ?ksjrk gS] mlh izdkj] ftYn
iqLrd dks ?ksjrh gSA

62.(A) ftl izdkj] 2 × (6)² = 72

mlh izdkj] 2 × (4)² = 32

63.(D) ftl izdkj]

 

B   A   C   K 

K   C   A   B

mlh izdkj]

E   M   P   T  Y 

Y   T   P   M  E

64.(D) 63 ,d vHkkT; la[;k ugha gSA
65.(D) vkØe.k ds vykok] vU; lHkh i;kZ;okph gaSA

66.(B) G   I    J    M

+2 +1 +3

L   N   O    R

+2 +1 +3

C   E   F    I

+2 +1 +3

T   R    P   S

+1 –2 +3

67.(C) vrfjDr fnu = 1(1993) + 1 (1994) + 1 (1995) +

2 (1996) = 5

rks] vHkh"V fnu = jfookj + 5 = 'kqØokj
68.(C) tsttsttsttst

69.(A) nknkveu

iq=k

HkkbZ

iq=k

70. (B)

71.(A) iz'ukuqlkj]
 (4M + 10W) × 24 = (10M + 4W) × 18

1 M = 2 W  ........... (i)

18 iq#"kksa rFkk 36 fL=k;ksa }kjk fd;k x;k dk;Z

= 
 
 

10M 4W 18

18M 36W

 



lehdj.k (i) }kjk]

= 12 × 
18

36
= 6 fnu

HARYANA MOCK TEST – 99 (SOLUTION)

72.(D) ewy/u = 
12500 12500

18750



= `8333
1

3

73.(A) vHkh"V erksa dh la[;k =

   62500 100 –12 100 – 52

100 100

 


= 26400

74.(C) vHkh"V vkSlr vk;q = 
37 32 7 3

2

  

= 
90

2
= 45 years

75.(B) iz'ukuqlkj]

   
16

16 65
= 

4
8

1 –
x

 
  


2

3
 = 

8
1 –

x

 x = 24 yhVj

76.(B) nku ds fcuk dqy ykHk = 
990 20

11



= ` 1800

dqy ykHk = 
1800 100

90


= ` 2000

77.(A) iz'ukuqlkj]

A 
B
C  40

 30
  50 600

20
12
15

2 fnuksa dk dk;Z = A + B + A + C

      = 20 + 12 + 20 + 15

      = 67 bdkbZ

tksM+ksa dh dqy la[;k = 
600

67
= 8 tksM+s + 64 bdkbZ

A + B }kjk vxys fnu 32 bdkbZ dk;Z fd;k x;kA

blfy,] A + C }kjk fd;k x;k 'ks"k bdkbZ dk;Z = 
32

35

vr%] vHkh"V fnu = 8 × 2 + 1 + 
32

35

= 17
32

35
 fnu
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HARAYANA MOCK TEST – 99 (ANSWER KEY)

1. (B)
2. (A)
3. (C)
4. (A)
5. (A)
6. (A)
7. (D)
8. (A)
9. (B)
10. (C)

11. (A)
12. (A)
13. (B)
14. (A)
15. (A)
16. (B)
17. (A)
18. (B)
19. (A)
20. (D)

21. (C)
22. (B)
23. (A)
24. (C)
25. (B)
26. (B)
27. (D)
28. (A)
29. (C)
30. (C)

31. (B)
32. (D)
33. (B)
34. (A)
35. (A)
36. (B)
37. (A)
38. (B)
39. (B)
40. (C)

41. (A)
42. (B)
43. (A)
44. (B)
45. (C)
46. (D)
47. (C)
48. (A)
49. (B)
50. (C)

51. (D)
52. (C)
53. (A)
54. (A)
55. (B)
56. (B)
57. (A)
58. (C)
59. (D)
60. (A)

61. (B)
62. (A)
63. (D)
64. (D)
65. (D)
66. (B)
67. (C)
68. (C)
69. (A)
70. (B)

71. (A)
72. (D)
73. (A)
74. (C)
75. (B)
76. (B)
77. (A)
78. (A)
79. (B)
80. (B)

81. (B)
82. (B)
83. (B)
84. (D)
85. (C)
86. (B)
87. (C)
88. (A)
89. (B)
90. (B)

91. (A)
92. (B)
93. (D)
94. (D)
95. (A)
96. (B)
97. (D)
98. (B)
99. (D)
100.(C)

Note:- Whatsapp with Mock Test No. and Question No. at 7053606571 for any of the doubts.
Join the group and you may also share your suggestions and experience of Sunday Mock Test.

Note:- If you face any problem regarding result or marks scored, please
contact  9313111777

Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

78.(A) vHkh"V nwjh = 
12

60
× (20 + 5) = 5 fdeh

79.(B) iz'ukuqlkj]
ekuk fd ykxr ewY; = x

160 85

100
100

x




= 1496

 x = ` 1100

rc] ykHk = 1496 – 1100 = ` 396

80.(B) iz'ukuqlkj]

9 8

1080


= 

8 6

x



x = ` 720


